9.8 Day 2

pg 654: <u>11, 13, 15, 17, 26</u>, <u>55b, 56, 73</u> Friday, February 28, 2020 10:34 AM 11. $\sum_{n=0}^{\infty} \left(\frac{x}{4}\right)^n$ Geometric $\left|\frac{x}{4}\right| \leq 1$ converges so -1 4 4 -1 converges abs (-4, 4) 13. $\sum_{n=1}^{\infty} \frac{(-1)^n \chi^n}{n}$ $\lim_{n \to \infty} \left| \frac{x^{n+1}}{n+1} \cdot \frac{n}{x^n} \right| = \lim_{n \to \infty} \frac{x \cdot n}{n+1} = \lim_{n \to \infty} x = x - \lfloor L \chi L \rfloor$ check endpts! $\sum_{n=1}^{\infty} \frac{(-1)^n}{n} = alt. series terms the series term is the serie$ = $\frac{20}{n} \frac{1}{n} \frac{1}{by} \frac{1}{2-senes}$ h=1 $\frac{1}{by} \frac{1}{2-senes}$ +est $\frac{1}{n} \ge 0$ $\frac{1}{1} \ge \frac{1}{n+1}$ $\lim_{n \to \infty} \frac{1}{n} \ge 0$ converges on (-1,1] S0 converges abs. on (-1, 1)conv. cond. a) x = 1 $15. \sum_{n=0}^{\infty} \frac{x^n}{n!} \qquad \lim_{n \to \infty} \left(\frac{x^{5n+5}}{(n+1)!} \cdot \frac{n!}{x^{5n}} \right) = \lim_{n \to \infty} \frac{x^5}{n+1} = 0 \quad \mathbb{R} = \infty$: converses (-00,00) converges abs. (-ao, ao) 17. $\sum_{h=0}^{\infty} (2n)! \left(\frac{x}{3}\right)^{h} \qquad \lim_{n \to \infty} \frac{(2n+2)! \left(\frac{x}{3}\right)^{h+1}}{(2n)! \left(\frac{x}{3}\right)^{n}} = \lim_{n \to \infty} (2n+2)(2n+1) \left(\frac{x}{3}\right) = \infty$ the series only converges a) x = O $\frac{\alpha \beta}{2} = \frac{n}{2n+1} \frac{\chi^{2n+1}}{\chi^{2n+1}}$ $\lim_{n \to \infty} \left(-1 \right)^{n+1} \cdot \frac{2n+3}{2n+1} = \lim_{n \to \infty} \left(\frac{-1}{x^3} \cdot (2n+1) \right)$

26.
$$\sum_{n=0}^{\infty} \frac{(-n)}{n+1} \sum_{n=0}^{n+1} \left[\lim_{n\to\infty} \left[\frac{(-1)^{n} + x^{n+1}}{n+2} - \frac{(-1)^{n} + x^{n+1}}{(-1)^{n} + x^{n+1}} \right] - \lim_{n\to\infty} \left[\frac{(-1)^{n} + x^{n+1}}{(2n+2) + x} \right] \right]$$

$$= \lim_{n\to\infty} \frac{x^{3} \cdot (2n+1)}{(2n+3) + x} = \lim_{n\to\infty} x^{2} = -x^{3} - (-1) \left[\frac{x^{3}}{2} - 1 \right]$$

$$= \lim_{n\to\infty} \frac{x^{3} \cdot (2n+1)}{(2n+3) + x} = \lim_{n\to\infty} x^{2} = -x^{3} - (-1) \left[\frac{x^{3}}{2} - 1 \right]$$

$$= \lim_{n\to\infty} \frac{x^{3} \cdot (2n+1)}{(2n+3) + x} = \lim_{n\to\infty} x^{2} = -x^{3} - (-1) \left[\frac{x^{3}}{2} - 1 \right]$$

$$= \lim_{n\to\infty} \frac{x^{3} \cdot (2n+1)}{(2n+3) + x} = \lim_{n\to\infty} \frac{x^{3} - 1}{(-1)^{n} + 1} = 0$$

$$= \lim_{n\to\infty} \frac{x^{3} \cdot (2n+1)}{(2n+3) + x} = \lim_{n\to\infty} \frac{x^{3} - 1}{(-1)^{n} + 1} = 0$$

$$= \lim_{n\to\infty} \frac{x^{3} - 1}{(-1)^{n} + 1} = 0$$

$$= \lim_{n\to\infty} \frac{x^{3} - 1}{(-1)^{n} + 1} = 0$$

$$= \lim_{n\to\infty} \frac{x^{3} - 1}{(-1)^{n} + 1} = 0$$

$$= \lim_{n\to\infty} \frac{x^{3} - 1}{(-1)^{n} + 1} = 0$$

$$= \lim_{n\to\infty} \frac{x^{3} - 1}{(-1)^{n} + 1} = 0$$

$$= \lim_{n\to\infty} \frac{x^{3} - 1}{(-1)^{n} + 1} = 0$$

$$= \lim_{n\to\infty} \frac{x^{3} - 1}{(-1)^{n} + 1} = 0$$

$$= \lim_{n\to\infty} \frac{x^{3} - 1}{(-1)^{n} + 1} = 0$$

$$= \lim_{n\to\infty} \frac{x^{3} - 1}{(-1)^{n} + 1} = 0$$

$$= \lim_{n\to\infty} \frac{x^{3} - 1}{(-1)^{n} + 1} = 0$$

$$= \lim_{n\to\infty} \frac{x^{3} - 1}{(-1)^{n} + 1} = 0$$

$$= \lim_{n\to\infty} \frac{x^{3} - 1}{(-1)^{n} + 1} = 0$$

$$= \lim_{n\to\infty} \frac{x^{3} - 1}{(-1)^{n} + 1} = 0$$

$$= \lim_{n\to\infty} \frac{x^{3} - 1}{(-1)^{n} + 1} = 0$$

$$= \lim_{n\to\infty} \frac{x^{3} - 1}{(-1)^{n} + 1} = 0$$

$$= \lim_{n\to\infty} \frac{x^{3} - 1}{(-1)^{n} + 1} = 0$$

$$= \lim_{n\to\infty} \frac{x^{3} - 1}{(-1)^{n} + 1} = 0$$

$$= \lim_{n\to\infty} \frac{x^{3} - 1}{(-1)^{n} + 1} = 0$$

$$= \lim_{n\to\infty} \frac{x^{3} - 1}{(-1)^{n} + 1} = 0$$

$$= \lim_{n\to\infty} \frac{x^{3} - 1}{(-1)^{n} + 1} = 0$$

$$= \lim_{n\to\infty} \frac{x^{3} - 1}{(-1)^{n} + 1} = 0$$

$$= \lim_{n\to\infty} \frac{x^{3} - 1}{(-1)^{n} + 1} = 0$$

$$= \lim_{n\to\infty} \frac{x^{3} - 1}{(-1)^{n} + 1} = 0$$

$$= \lim_{n\to\infty} \frac{x^{3} - 1}{(-1)^{n} + 1} = 0$$

$$= \lim_{n\to\infty} \frac{x^{3} - 1}{(-1)^{n} + 1} = 0$$

$$= \lim_{n\to\infty} \frac{x^{3} - 1}{(-1)^{n} + 1} = 0$$

$$= \lim_{n\to\infty} \frac{x^{3} - 1}{(-1)^{n} + 1} = 0$$

$$= \lim_{n\to\infty} \frac{x^{3} - 1}{(-1)^{n} + 1} = 0$$

$$= \lim_{n\to\infty} \frac{x^{3} - 1}{(-1)^{n} + 1} = 0$$

$$= \lim_{n\to\infty} \frac{x^{3} - 1}{(-1)^{n} + 1} = 0$$

$$= \lim_{n\to\infty} \frac{x^{3} - 1}{(-1)^{n} + 1} = 0$$

$$= \lim_{n\to\infty} \frac{x^{3} - 1}{(-1)^{n} + 1} = 0$$

$$= \lim_{n\to\infty} \frac{x^{3} - 1}{(-1)^$$